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o SUBTRACTION
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Definition:

» |n a simple way, subtraction is taking away a number and find how many
are left.

» Subtraction is defined as an arithmetic operation that represents the
operation of removing the object or objects from the group of objects.

» We can say that subtraction is a process of finding difference between 2
numbers.

> The symbol of subtraction is minus. (-}
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‘L’ One by One Subtraction
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[t's a balloon shooting game.

There are 10 balloons.

He is ready to shoot the balloons.
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‘L’ He shoot the pink balloon. ’
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After shooting 1 balloon from 10 balloons, there are 9 balloons left.
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‘L He shoot the green balloon. ,
v

After shooting 1 balloon from 9 balloons, there are 8 balloons left.

www.kooracademy.com



‘L He shoot the brown balloon. .
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After shooting 1 balloon from 8 balloons, there are 7 balloons left.
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‘L He shoot the orange balloon. Q
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After shooting 1 balloon from 7 balloons, there are 6 balloons left.
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‘L He shoot the purple balloon. O

pKOOR ACADEMY ¢

| I| Ilr '.II
| | |
\ _ '

\\& j/ II"»‘ f'li Q

After shooting 1 balloon from 6 balloons, there are 5 balloons left.
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‘L He shoot the Cyan balloon. 0
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After shooting 1 balloon from 5 balloons, there are 4 balloons left.
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‘L’ He shoot the Indigo balloon.
Y 5
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After shooting 1 balloon from 4 balloons, there are 3 balloons left.
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‘L He shoot the red balloon. ,
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After shooting 1 balloon from 3 balloons, there are 2 balloons left.
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After shooting 1 balloon from 2 balloons, there are 1 balloons left.
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He shoot the blue balloon. G

é

1 - 1 = 0

After shooting 1 balloon from 1 balloon, there is 0 balloon left.

That means no balloon.
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